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   300  ml
300 ml

Metric measures worksheet: 
4. 	A. 500m
	B. 8.5cm
	c. 2 ¼ km

5.	Volume – D
	Distance – B, C and E
	Length - A

6.	She cannot measure the distance in kg, as that is used to measure mass.  It would be acceptable to measure the distance in either m or km. 
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1L = _1000_ml so we need to divide by _1000_ 


4800 ÷ 1000 = 4.8

4.8 L









x


100
x
100cm

2.75 x 100 = 275


275cm





Convert metric measures worksheet: 
4. A, B, D, E, F
[image: ]
6. Aelin is correct because ot convert L to ml you have to multiply by 1000. 3.657 x 1000 = 3657
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800
4000 ÷ 5 = 800
4000gg
4000g
4000
2400ml
3000 - 600 = 2400 
3000ml


Problem solving metric measures worksheet: 
4.	A = 0.73m
	B = 22.75m
	C = 1.49m
	D = 20m

5. 	D = 1080g, whereas A, B and C = 1224g 

6. 	Jenna is incorrect. When converting her answer to litres, she has divided by 100 instead of 1000. The correct answer is 6.18L
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Think Together :
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Zac is correct because there are 1.6km in 1 mile. That means that there will be 1.6 times as many km as miles in any distance. 
7 x 1.6 = 11.2km, while 7 x 0.62 = 4.34km. As Km are smaller than miles, there will be more km than miles in any distance. 

Miles and Kilometers worksheet:
1. 15 miles < 32km  
16km < 20 miles
48km = 30 miles
45 miles > 64km

2. A. 10 miles
B. 56km
C. 40 miles

3. No, because three school weeks is 15 days and after this time Ashleigh will have walked 120km which is 75 miles. 
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Think together

Q) e veoter carrer holds 3 lves of water but
600 ml of water has leaked onto the floor.

How many millilitres are left in the water carrier?

There are ([ ml of water left.

different, 5o to give the answer
in milllitres you need to convert
all the units into millilitres.

The units of measurement are )

e 4kg of compost i divided among 5 trees.

How many grams of compost will each tree get?

4x I.UUU:.
“ig=09

(D g of compost s shared among the trees.

Eoch tree will get (] grams of compost.
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o How many miles away is the airport?

s6+8=(_) ‘

Airport 56 km

8 km 8 km 8 km 8km 8 km 8 km 8 km

The airport is . miles away.
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6 A railway station is 65 miles away. = )

(5 oty

How many km should the sign show? [ — [ 4

65 miles
1

5 miles [ 5 miles [ 5 miles

The sign should show . km.
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© ! miteis about 16 k. 1km is about 0-62 miles.

Bello and Zac are calculating the number of kilometres
in 7 miles.

We need to
multiply 7 by 062.

That s not right. We need
to multiply 7 by I6 instead.

Who is correct?

Explain your answer.
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Converting Between Metres, Centimetres and Millimetres

LO: I can convert between different units of metric measure

There are three workmen; one has a tape measure that only shows metres, the second man’s only shows centimetres and the final workman's shows just

millimetres. Complete the tables below to help the workmen by converting the measures.

Metres | Centimetres | Millimetres | 2.[ Metres | Centimetres | Millimetres | 3.[ Metres | Centimetres | Millimetres Metres | Centimetres | Millimetres
0327 27 327 6674 6674 6674 0104 104 104 7244 T244 T244
0794 794 79 5.016 501.6 5016 091 91 910 5757 5757 5757
0.329 329 329 1014 1014 1014 0.154 154 154 5983 5983 5983
0.818 818 818 3125 3125 3125 0307 307 307 9.077 9077 9077
0.651 651 651 547 547 5470 0.005 05 5 2.646 264.6 2646
0.215 215 215 8215 821.5 8215 0.867 867 867 9784 9784 9784
0.802 80.2 802 523 523 5230 0.862 86.2 862 3.69 369 3690
0.57 57 570 1551 1551 1551 013 13 130 2923 2923 2923
0.845 845 845 4.228 4228 4228 0.3% 394 39% 2.637 2637 2637
0.453 453 453 9774 9774 9774 0.504 504 504 4729 4129 4129
Metres | Centimetres | Millimetres | 6.[ Metres | Centimetres | Millimetres | 7. [ Metres | Centimetres | Millimetres Metres | Centimetres | Millimetres
0.871 871 871 9.043 9043 | 9043 0.546 54.6 546 7.677 7617 7671
0.259 259 259 1,659 1659 1659 0.844 84k 844 9489 9489 9489
0.522 522 522 1.386 138.6 1386 0.842 842 842 1875 187.5 1875
0916 916 916 4207 4207 4207 0.607 607 607 3966 396.6 3966
0.84 84 840 1.349 1349 1349 0.82 82 820 5.257 5257 5257
0983 98.3 983 49 490 4900 0.89% 894 894 253 2534 2534
0.365 36.5 365 2.456 25.6 2456 0.011 1 1 5.295 529.5 5295
0.587 587 587 3173 3173 31713 027 271 2n 7.231 7231 7231
0.339 339 339 4942 494.2 4942 0.839 839 839 3.59% 3594 359
o112 12 12 7136 7136 7136 0107 107 107 5.304 530.4 5304
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There is a little water
leftin the bottle!

Think together

@ cstimote the number of militres
the glass can hold.

The bottle holds (] m.
The glass holds slightly less than the bottle.

The glass holds about (] mL.

© vwhot unit of measurement should be used for each of these items?

™ ()
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Think together

0 ) How many litres of paint does the tin hold?
ml—>1

smaller unit —> larger unit. so divide

o | Tth | Hth

»
s
oo
|
o
»lolo

P 8

b) What s the length of the hose in centimetres?
m—>cm
larger unit —> smaller unit. so ()

im=Oem.soQboy(J
Q-0

The hose is (] cm long.
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